

الف) $y^u - x^u = x_{u-1} \Rightarrow y^u \leq x_{u-1} + x_{u+1}$ $(x_1, y_1) \xrightarrow{u, u+1} y_1^u = y_1^u \rightarrow y_1 \leq y_1 \checkmark$ ب) $\frac{x+y}{r} = \sqrt{xy} \rightarrow x+y \leq r\sqrt{xy} \rightarrow x^2 + y^2 + 2xy = r^2 xy$ $x^2 + y^2 - r^2 xy = 0 \rightarrow (x-y)^2 \geq 0 \rightarrow x \leq y \checkmark$	ب) $x \cos y = y \cos x \rightarrow x \leq kx + \frac{\pi}{r}$ $u \leq 9^\circ \quad y = 9^\circ \quad x \leq kx + \frac{\pi}{r} \rightarrow y \leq 9^\circ$ $u \leq 9^\circ \quad y \leq 9^\circ \quad x \leq kx$ د) $x^2 + y^2 - x^u - y^u \leq 0$ $x(x^2 + y^2) - y(y^2 + x^2) \leq 0 \checkmark$ $(x^2 + y^2)(x - y) \leq 0 \rightarrow x \leq y$	1
$x \leq n-1 \rightarrow x \leq n-1 \rightarrow x \leq n$ $n-1 \leq -x \rightarrow n \leq -1$ $\rightarrow n \leq -1$ مثال: $x, b \leq -x, a \rightarrow a, b \leq 1$		2
$f(x) = \sqrt{x^2 - b} \rightarrow x \geq b$ مثال: $x = 0, b$ $S: a+b \leq b \rightarrow a \leq b$ $P: a+b \leq a \rightarrow b \leq 1$ $a \leq b \rightarrow a+b \leq 1$		3
$y = \frac{r}{\sqrt{a^2 + b^2}}$ $(-a, r) \rightarrow a \leq 0 \quad b, r > 0 \rightarrow b \leq -r$ $a \leq -r \rightarrow a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$ $a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$ $a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$	$a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$ $a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$ $a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$ $a \leq -r \rightarrow a \leq -r$ $b \leq -r \rightarrow b \leq -r$	4
الف) $f(n) = \sqrt{\frac{1}{ n - [n]}} \Rightarrow n \neq 0 \Rightarrow n - [n] \neq 0 \Rightarrow n \neq (0, 1, 2, \dots)$ $D = \{R - n \in \{0, 1, 2, \dots\}\}$ ب) $f(n) = \sqrt{n} \sqrt{y} = 9$ $n \geq 0 \quad y \geq 1, f(n) = 9 \rightarrow 9 \geq \sqrt{n} \quad n \leq 81$ $y \geq 0$ $D = [0, 81]$		5

$$e.d) f(u) = \sqrt{\log \frac{u-1}{u}} \rightarrow \begin{matrix} u-1 > 0 \rightarrow u > 1 \\ u > 0 \\ u \neq 1 \end{matrix} \rightarrow \left\{ \begin{matrix} u > \frac{1}{p} \\ u > 0 \\ u \neq 1 \end{matrix} \right\} \xrightarrow{\text{log}} \log \frac{u-1}{u} > 0 \rightarrow u-1 \geq 1 \Rightarrow u \geq 2 \rightarrow u > \frac{1}{p}$$

$$D = \left\{ \frac{1}{p} < u \leq \frac{1}{p} \right\} \cup (1, \infty)$$

$$b) f(u) = \log \frac{1}{9 + \sqrt{|u| - |u|}} \Rightarrow \text{cas } 9 + \sqrt{|u| - |u|} \neq 0 \rightarrow \sqrt{|u| - |u|} \neq -9 \rightarrow \frac{-9}{-9} < \frac{9}{-9} \Rightarrow D_f = (-9, +9)$$

$$c) y = \sqrt{\frac{u-1}{u+b}} \rightarrow y = \sqrt{\frac{u-1+ab}{u+b}}, \sqrt{\frac{(u-a)+ab}{u+b}}, \text{ rem } \rightarrow \begin{matrix} u-a > 0 \\ u > -b \\ -b < u \\ b < -u \end{matrix}$$

$$y = \sqrt{f(u) - u+1} \Rightarrow \sqrt{f(u) - u+1} > 0 \rightarrow f(u) - u+1 > 0$$

$$u-1 \rightarrow \frac{u}{u} > \frac{1}{u} \rightarrow \sqrt{u-1-u+1} = \sqrt{u} \rightarrow u > 0, \frac{1}{u} > \frac{1}{u}, u > a$$

$$u-1 \rightarrow \frac{u}{u} > \frac{1}{u} \rightarrow \sqrt{u-1-u+1} = \sqrt{u} \rightarrow u > 0, \frac{1}{u} > \frac{1}{u}, \frac{1}{u} < \frac{1}{u} \rightarrow D = \left[-\frac{1}{u}, +\infty \right)$$

$$y = \frac{u(u^p + u^p + u+1)}{(u+1)^p} \Rightarrow \frac{u^p (u+1)^p}{(u+1)^p} \Rightarrow \frac{u^p}{u+1} \rightarrow \begin{matrix} u+1 \neq 0 \\ u \neq -1 \end{matrix}$$

$$D_f = \mathbb{R} - \left\{ -\frac{1}{p} \right\}$$

$$y = \sqrt{1 - \log(u-a)} \rightarrow \begin{matrix} u-a > 0 \rightarrow u > a \\ \log(u-a) > 0 \end{matrix} \rightarrow u > \frac{a}{p}$$

$$\sqrt{1 - \log(u-a)} > 0 \rightarrow 1 - \log(u-a) > 0 \Rightarrow 1 > \log(u-a) \Rightarrow 1 > u-a \Rightarrow \frac{1+a}{p} > u \Rightarrow \frac{1}{p} + \frac{a}{p} > u$$

$$u > \frac{a}{p} \rightarrow \frac{1}{p} + \frac{a}{p} > u \rightarrow \frac{1}{p} + \frac{a}{p} > u \rightarrow u \in \left(\frac{a}{p}, \frac{a}{p} + \frac{1}{p} \right] \rightarrow b-c \Rightarrow \frac{a}{p} + \frac{1}{p} - \frac{a}{p} = \left(\frac{1}{p} \right)$$